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Q1. 18 boys can do a piece of work in 24 days. In how many days can 27 boys do the same work?
.18 TTEh Weh I ol 24 TeT H T Wehd ©| 27 TSk ST eI ol Teha TaAT B oh Gehd &7
(a) 16 (b) 32 (¢) 23 (d) none




Q2.If 10 persons can do a job in 20 days, then 20 persons with twice the efficiency can do the same job in
. Il 10 Sk Toh 1 =i 20 AT H o Hehd €, 1 ST S&TdT et 20 S4ih GHT 1 ohi foha a1 H X Fehd
37

(a) 5 days (b) 10 days (c) 20 days (d) none




Q3.A and B can do a piece of work in 12 days and 15 days, respectively. They began to work together but

A left after 4 days. In how many more days would B alone complete the remaining work?

A 3R B U & 1 shRT: 12 fodi I 15 o1 1 o6t Tkl €1 381 Toh |1 hTH AT (& foham oAfeht A o 4 faai
o SIS 3hTH B (AT B 3okl I 1Y i Toha SATdih fori | g sham?
(a) 20/ 3 (b) 25 /3 (c) 6 (d) none




S A

S I s

Q4.Ram and Shyam can do work 1n 16 days. Shyam takes twice time as Ram takes to do the same work.

In how many days Shyam alone can complete that work.
T SR AW 16 TG H 17 S Hehd o TATH ST T ol i H TH o §H § SRMHT 96 il 8l T 37kt 39
T o fera ot o 90 ot Feha &

(a) 16 days (b) 32 days (c) 24 days (d) none




Q5.Raghav can do a piece of work in 15 days while Dev can do the same piece of work in 20 days. If

they work together for 4 days, how much fraction of work left?

THS Ueh T3 okl 15 T U ot TohdT © STafoh 3o 38T &1 okl 20 T 1 ot Tehdt 21 Afe I 4 faat o foTw ues w1y
ShTH SHTd &, AT ShTH ShT fohd=T 9T I1Y 22

() 7/15 (b) 172 (c) 8/13 (d)none
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Q6.A can complete 3/5th of the work 1n 9 days. A and B together do 1/5th of the same work in 7/ 4 days.

Find time taken by B to complete the work alone.

A ST 3T 3/5 AT 9 T 5 9 ot TohalT 8| A 3 B firerent 36T & &1 1/5 TRT 7/4 To1 5 36ad 81 B 31T
3ehel ShTH U KT H T 7T eHe 31d shifey)
(a) 25 days (b) 21 days (¢) 18 days (d)none




Q7.A can do a piece of work in 30 days. If A and B together can do 1/ 3 rd of work in 4 days, then find

in how many days will B do 3/ 5 th of work?
A T ki ol 30 feT H T OehdT 21 IfC A 3R B Ut v o6t 1/3 9T 4 fei A st gond @, a1 B fora feai &

T <A1 3/5 o1 & 90 s
(a) 15 days (b) 12 days (¢) 18 days (d)none




Q8.A and B together can do a piece of work in 18 days. B and C together can complete the same piece of

work 1n 30 days. If A is 100% more efficient than C. find in how much time B can complete the work

alone?

A 3B T |19 T 1 ol 18 T § T TR | B 3R C Foretent 36 &l o 30 ToAT H O oL Hehd 81 316 A,
C ¥ 100% 3Tk -1 2, AT B 37kl hTH i Tohd S0 H T HT HhAT 272
(a) 22.5 days (b) 45 days (c) 75 days (d)none




Q9.Lokesh starts a work and after 6 days he left and remaining work finished by Rakesh in 12 days. Had
Lokesh worked for 9 days, Rakesh would have finished the remaining work in 8 days. Find the time

taken by Lokesh to complete the work alone.

SATh3T Tk <hTY & LT & FN 6 Ta1 o SIS I8 1 BIE a1 & I IS hral TeheT gRT 12 Todi § 920 X el €
fe AR 9 T&AT o 17T <hTH HTAT, T THST I Sh1H skl § TT H L T AT TR ST Fehed shid shl T i

T foram T auy d i
(a) 12 days (b) 9 days (¢) 15 days (d)none




Q10.Hemant and Vikash working together can make a wall in 15 days. They both started building the

wall and after 3 days Hemant left and Vikash alone build the remaining wall in 24 more days. Find

efficiency of Hemant 1s what percent of Vikash’s.

THA S forshTel ek @ e X §C 15 Teai § Ueh S a1 Hehd @1 o ST ST ST 3 oL 4d @ 3T 3
faat o o1e ¥ 7 oie faar 37t faemm s1ahel I Sar i 24 Tt o oA 21 2Ha shl swrdarmar, foerma i
FTIETAAT ohT TohdT TTeRTd I shifsr|

(a) 50% (b) 20% (c) 25% (d) 100%




Q11.A 1s 25% more efficient than B. B takes 6 days more time to complete the work alone than A takes to

complete the same work alone. If both works together then, in how many days same work will be

completed.

A, B 8 25% 314k F1T &1 B 3ot hTH ol T LA H A Sl 3Tohct SET W ohl T L H 6 TG AT G0 Il
21 I ST Tk TTeF W L &, A1 FH w fohe T 5 90 gRm?
, (a) 16 days (b) 8( 2/ 3) days (¢) 13( 1/3) days (d) none




Q12.Ayush 1s thrice as good a workman as Anurag and both working together can complete the work in

20 days. In how many days can Anurag alone complete 1/ 4 th of work? (in days)

HTYY, ST © T4 THT 38T HRITN @ ST T Toh |1 k3 shid BT 1 ol 20 TaAT § I X Eehdl 8. ST
3fehcd 1 T 1/4 AT T fomt o 90 oht wehiatt 82 (AT )

(a) 40 (b) 30 (¢) 10 (d) none
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Q13.Efficiency of Anurag is two times more than efficiency of Ayush. Both Anurag & Ayush start
working alternatively, starting with Anurag and they complete the work in total 37 days. If Shivam
alone complete the same work in 50 days, then find in how many days Ayush and Shivam together will
complete the work?

T 3T SHAFIAT TN hT HRIFIAA € &1 AT ek 8| ST ST TGN T Aehicdeh & H HTH H
| YTE U 8, ST H Y& A & SR A et 37 ToA1 H ohH 90 i &1 Afe Rrem 7ehet I o 3t 50 ot 7
O AT &, 1 ST SR (7o fretert fohe Tt H shred 9 shifl?

(a) 24 days (b) 30 days (c¢) 36 days (d)none




Q14.Sanjeev can prepare some dishes in 4 hours while Nisha can prepare same in 5 hours. Madhulika

takes 20% less time than Sanjeev & Nisha take together to prepare same dishes. What is the efficiency

ratio of Sanjeev & Madhulika?
G135 SHST 4 €S H TAR L Hehell & STel{oh 21T 5 5 H qAT 3 Fehell &l HYfCToh THTT S IR L |

ESie ST R 36T T H 20% FH GHY Al 8. Hsier I A CTehT 3hT ShI-ETHT shl STAT T 872
(a) 4:9 (b) 16:9 (c) 16:45 (d) 4:5




Q15. X is 40% more efficient than Y and Z takes 33( 1/ 3) % less time than X to complete a work. If all

three together can complete a work in 6( 2/ 9) days, then find X & Z can complete the two times of work in

how many days?
X, Y © 40% 3iereh A & 3R Z, Toh shd ol TR H X & 33(1/3)% A T a1 8| Al i1 fietsh T

1 6(2/9) Tot H 90 o ket 2, AT X 37 Z Torar fomi o e ok &1 7T ol O 3 TRl &7
. (a) 8 days (b) 16 days (c¢) 18 days (d)none




Q16.If 9 men or 15 women can do a piece of work in 18 days working 9 hours a day. How many days

will 1t take to complete a work twice as large with 6 men and 8 women working together 6 hours a day?
T 16. Al 9 T&Y AT 15 AiGATE Tk 1 b 18 Torti 7 9 = ol oo 3 Tohdl &1 6 T8Y I 8 Afgard whdfe 6

S Ueh TT o1 T ATt i o G o1 ol ST S il ol U i § febet fo wvi?

(a) 22 days (b) 27.5 days (¢) 45 days (d) 22.5 days
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Q17.A & B working together can complete a piece of work in 72 days, B & C working together can
complete the same work 1n 90 days and A & C working together can complete the same work 1n 75 days.
If A, B & C starts working together, then find in how many days will the same work be completed?

. A 3 B T U1 hTH h{d §C Teh 1 ol 72 Todi § 90 F Eehdl &, B 3N C Toh U1 HTH L T IHT HTH i
90 TaHT H I L Tehdl & IR A TR C T |1 17 FAd 5T T h1H ohi 75 TodT 8 90 9 &kl &1 AfS A, B AR
C T T ¥ AT I[E L &, A1 J1 shitsrel Toh o v fohe Tt F o &

(a) 55 (7/ 23) days (b) 52( 4/ 23) days (¢) 59 (2/ 23) days (d)none




